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CHEMISTRY

62. Whichone of the following is an unsaturated fatty acid?
a) Palmitic acid
b) Lauricacid
\¢) Linolenicacid
d) Mpyristicacid

63. Whenchlorineis passed through boiling toluene we get
a) o-Chlorotoluene
b) p-Chloro toluene
\9/ Mixture of o & p — Chloro toluene (4
d) Benzyl chloride -

64. The standard temperature used in thermo chemical calculationsis
a) 273K N R - }
208 K I35 - 208K

c) 297K

d) 303K

6S.  Which of'the following is an intensive property?
a) Enthalpy
b) Entropy
Density
d) Mass

66.  Schiff’s reagent contains
a) Rochellesalt
b) Resorcinol
&Y Rosaniline
c) o naphthol

67. The formula of chromyl chloride is
a) CrCl
b) CrCl,
) CrOCl,

AdY CroCl,

68. Homsilveris
a) Oxideore
b) Sulfideore
¢y Halide ore

d) Carbonate ore









83.

el

84,

85.

86.

87.

88.

50cc of oxalic acid is oxidized by 25cc 0f 0.20 N KMnO The mass of oxalic acid present in 500cc of the
solutionis ¢

3.15¢g
b) 31.5g

‘9) 6.3g

d) 63g

Pure water is neutral because
H=17

b) Litmus has no effect

¢) Itis free from dissolved salts

d) PH=0

In the titration of Mohr salt against KMnO, the indicator used is
a) diphenyl amine
KMnO,
c) phenolphthalein
d) Methyl orange

The relationship between half life of a reaction and the order of reaction is
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6gm of urea is dissolved in 90g of water. Relative lowering of vapour pressure is

43)70.02
b) 0.2

9 0.002
d) 0.04

6.84g of sucrose is dissolved in 200g of water. The molality ofthe solution is
a) 02M
b) 03M
Ay 0.1M
d) 0.02M


















